AX = Z <M w ' M s an X' ank W&L(W\) g
AW[A & 9. A(\:@ & 20
™ = 2({\/]/ w > l M & a TH 6\1/\& we L(V\/}\§

- Turing Machh < Vad aferpreters  stlen Torig Machies
- MAWME

o€ E0 s Tupuk - £ MY

| ~ Tape L <> < M >

u Tape 2 ~’<[}«/> =7eu [Jwi> EZOIW—D ®{; [Z(zw,’
SV omven] Tape 31 <o LS M

T\/f'ﬂ\g Machne I Hzzn

ngo;e /\/\A RIEAN KU?P)LM* (no¥ (\ec;éer\\ Nen w\’\qu
», (\OQS U\ (é/\/\A y w7 ) w\&(‘e /"\4 A,\_Q,g(s on

ez RejecL Ue % ¢ Reject
Da\g_rqe ‘D'W'T&'
while (@Mu\qk machive o m c\(qa_\o«L or f{j‘ed*>w£
Simulafe A skp(); |
AR (W\O\d«;‘«( i &Mrg‘\/zg) é\or\ec\k}‘ 3

3

Nwa\ Acepk\ o~ er\ec+,'




w | \/J\r\m we two sets He same sze”

A TS Save S 7€

e

AR e (A = R
"Comk Hem  and Compare.  Nnom bers

Nabls = 071 € Finike Seb =
Z Sed SN
A2 =7 hull 4 Mgpping

A W‘“W’\'ﬁ ~ 4 fuctwn Lom A o B
(?’-éi) L) =x% afny
_ . A 8 bt ok a mappig
T one-Yo-one (80"\‘4‘ able—ut Bs)

(\7/0\.,0\1%, £6) = Lla) =7 a, =42>
L oon JFO ( éw\‘¥ l{’qvc O\)L Bs)

(Vo Fa £&=5)

MNabols = 0,12, 3, Yo oo S

CBvens = 50,2 b 8, o S

(3@ N>E.  (Wae. Sa)= €D <> q=dz)

AN (M Fa, £6Y=0) )

Vegad M Q(VC:I\WE‘ (Fa, 0. . £@) =€Gy,) = acxaz)
V (To Ve, 0 X))

postwe

C(x)= 2. x S 3q, = 2a, => a.=ag
drx =Rb =» X=b

e

T“C— A % l\/ ) Pew X COU\'\JW\L/(

V\q%m\\s
>( S enumera b le




20-73

P Ratonals
Q "y
3/\ 3/2 3/3 3/%
‘/3 2/3 3/3 V\/jz
ook
/o /e /s

A AN m AN ‘313

e

S
G
N iy NXN M(YIU)\ = X/Lj = Q
N* M(x,y) = X— =&
¢ (x )= (Mﬂ(“%l\ A (x, J]\ C () = e

Co\v\%p S Pq /\‘/\9 Fur\cl}m

NXNXN /kiZ}

&

N




10«””

flee\s

No\\wm\\s AW &
N R
O& R L eR
O.S &R
T eR e cR

’ DL&JQ\«L v’
Two Mlmle sobs o8
Q2 (v

e

-

~ o and 1S are Snallen

“lauchy Seguence”
ann Cdb s o & rq%\w«

-
-

(0\/\\/{/‘71143 }'o

r\

ﬂ Yeal 3 @ &WCH\)V\ Q‘om N % a X\‘(j,#-
Ro [O, \5 = \o,\/\o\r% encoled
Ror = N = 206,13 0. 0000 . ..
0" = A O .
L Aaifnt%zeo, 4 0.8 = Ane i€ n=s0, 1 0 1 OO,
ow. O Ow. , Q
= 0. 10 " Y2 A Compule T w, |
Fen nehwn Hat dy 4
voR |
0| T = X = O, £0n) = Npes, 1 Cgos=n, |
4 3 = A - Ouotico - Uuw. O
I I S N T MY O > 18
'S VAS =X = 0,600 - 15,018
7 = 0010
___,:\./%:N_vﬂ‘
- dbeR Vaen £ x b
édf\oose b (A po&'"(M(POSﬂ(Po%)) ‘\/ % R 0
Lindsee please Sk = Rave dgger
evrew WS pant




